Code No. : 2041
APPLIED MATHEMATICS - 1
[Maximum Marks : 50

' Attempt all questions. ; : . : . -
Students are advised to specially check the Numerical Data of question paper in both versions, If there is any
ifference in Hindi Translation of any question. the students should answer the question according to the English

version.
‘Use of Pager and Mobile Phone by the students is not allowed.
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If x=2—+/=2 Find the value of '~ 3x*+ 2x + 10

Find the angle between {+ j+£ and 2/ —3]+6k .
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Ifa=2+3j—k ,b=1+2]—3k thenfind the value of Gxb .

In AABC Prove that a?= b*+ ¢2—2bc cos A
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